J[SEEIN

SEIMRAZIBUBEFNAE TOITSLR

B BE:20174E11H23H (K- #) 9 1 00~16:50 (8 : 305AFBi#k)
S 5 BERERRY Y 82 301%Ys (GB 1 &Y 2028 (58 2 &%)
T154-8525 HUGUHRHEH X BIIR1-23-1
T = 1 Z IR A3 % PR
S B:4SH 2,000 JEEH 5000 A 500/ (A4 EIZEERD
/o5 £ 1515 (301%u%) £2 G (202315%)
8 30 35
9 100 BEER
[ B R A A 7R 3E |
9:20 HEFE? 9 :20 MT 1
[ BZ R A B T 7 BE [ B BB AT 22 BE
9 :40 BEHEE3 9 :40 MT 2
[ — eI BTS2 8t | [ B & A BT ik 72 BT
10 - 00 HEEEL 10 - 00 MT 3
[ b g BT 7e 9 [ — MW BT SE 3t |
10 - 20 HERED 10 - 20 MT 4
[ LB BT I ZE 9t | Rikla i3 Zezig s 4
10 - 40 HEREEC 10 : 40 MT5
[ 2 - BhRE - SHITSEHE) [ L5 s Bt Ak 7e 9 |
11 : 00 11 : 00 MT6
—RRIRF R [T RE 2 - i - FHRFZEE
[MRI, —#dise
12:00 | svFavk3iF—1/9>Fart3isF—2
13: 00
—RRERFR R
[CT]
141 00 HEEET
[ MR #fgH A Ar7E 9t |
14 - 20 HEAEES 14220 MT 7
[ {572 9L [ MR #rfRH At g3k |
14 +40 ESEE 14 : 40 MT 8
[CT s Bt sE 8t | [ BRI ZEIE |
15: 00 BEE0 15 : 00 MT 9
[ & P BART T 72 3T [CT $xsz B 7e 9t |
15+ 20 BEE 15:20 MT10
[ W BT ZE 9t | [ S P Bt Al 7R 3
15 : 40 15: 40 MT11
_ﬁfgﬁéﬁ LA A 2
16 : 50 B A
17 - 30 TS (FAERELIR) % 3,000 XSRS 220 1B~EHELZD F 1L

MT 1 ~11{C2WT
Meet the teacher TIZEHF iiE F /N —120h e L2 EBn & 217w E 9,
R T RICE2AYABII L, PR ho2hAlid7u 7S AR TN L VRS RDLLZEXH D T,




